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.     Icecream    .
Distribution of Hokey Pokey lumps per serving. 
	Number of lumps ‘x’
	Freq f
	xf
	x2f

	0
	
	
	

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	

	5
	
	
	

	6
	
	
	

	7
	
	
	

	8
	
	
	

	9
	
	
	

	10
	
	
	

	Totals
	
	Σ xf =


	Σ x2f =


Calculate the mean
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  Calculate the standard 

  deviation

     Var(x) = E(x2) – [Ex]2
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Distribution of Hokey Pokey lumps per serving.


	Number of lumps ‘x’
	Freq f
	Probability
	X . prob

	0
	
	
	

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	

	5
	
	
	

	6
	
	
	

	7
	
	
	

	8
	
	
	

	9
	
	
	

	10
	
	
	

	Totals
	
	
	Σ x.prob



   Calculate the mean
 E(X) = 
E(X2) =

  Calculate the standard 

  deviation

     Var(x) = E(x2) – [Ex]2
    σ =
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